
Technical Support Department
1.877.BHS.4YOU (1.877.247.4968) • BHS1.com

M-F 8:00 A.M. - 5:00 P.M. CT (GMT-6)

09/21
Specifications subject to change without notice. ©2008-2021 BHS, Inc.  St. Louis, MO.  All Rights Reserved.

PGC-PDC FESTOON KIT
P/N: PGC-CFS

QTY	 PART#		 DESCRIPTION			
1	 14015004	 TOW ARM
2	 14617122-2	 BRACKET-CABLE-CFS
60'	 CF0050		 CABLE-FLAT-PVC-14-4
8'	 E0501		  14-4 SO CORD CABLE
23'	 CF0055		 NYLON COATED CABLE
4	 HW0107	 WASHER-LOCK-3/8"
4	 HW0108	 WASHER-FLAT-3/8"	
1	 E0611		  BOX-JUNCTION-2" X 4"
1	 E0612		  COVER-BOX-JUNCTION
2	 HW0301	 BOLT-SELF TAP-"F"-1/4-20 X 1/2"
4	 HW0401	 BOLT-HHCS-3/8-16 X 3/4"
1	 SWS0001	 HARDWARE KIT-CFS
1	 SWS0005	 CLAMP-FIXED END
1	 SWS0010	 TOW TROLLEY

QTY	 PART#		 DESCRIPTION			  _
3	 SWS0015	 CABLE TROLLEY
1	 E0629		  SPRING-SHOCK	
1	 E0630		  GRIP-CABLE-SUPPORT-.500-.620
1	 E0622		  RESTRAINT-1/2"	
2	 E0608-1	 RESTRAINT-1/2"-90 DEG-.450-.560
3	 E0617		  LOCKNUT-CONDUIT-1/2"
5	 E0625-1	 CLAMP-S/O CORD CABLE
1	 14017019	 PLATE-MOUNTING
1	 80000005	 INSTALLATION INSTRUCTIONS
4	 HW0002	 NUT-HEX-1/4-20
4	 HW0103	 WASHER-LOCK-1/4
4	 HW0305	 BOLT-HHCS-1/4-20 X 2
1	 14017018	 PLATE-SUPPORT


